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11 15. 90 29.00 | 0.K. | 153
12 17.10 29.00 | 0.K. | % B
13 18.31 29.00 | 0.K. | % B
14 19.51 29.00 | 0.K. | % B
15 10. 21 29.00 | 0.K. | & i

S2,4,6, 8Bk BITVAT XA AN EH R LR TH LU,
IR O 5|k 12Xk 5 B

HSRE D5 | B & LA

(& B : Fs=  2.00
(HIEERF) : Fs= 1.20
. L S T, ]
B | svm | aem | T | TUE | HET 2
1] 1.026 54.90 12.40 | 4.54|0.K. | H & B
3] 1.669 72.71 12,51 9.70 |0.K. | ® %
5] 1.806 100. 72 17.33 ] 10.50 | 0.K. | & %
7] 2.048 128.73 22.15 | 11.90 | 0.K. | # W%
9| 2.414 156. 73 19.78 | 19.13|0.K. | ® ¥
10| 2.650 170. 74 14.69 | 30.80 | 0.K. | & B
11| 2.927 184. 74 15.90 | 34.01 | 0.K. | & B
12] 3.052 198. 75 17.10 | 35.47 |0.K. | & B
13] 2.031 212.75 18.31] 23.60|0.K. | & ¥
14| 2.475 226. 76 19.51 | 28.77|0.K. | & %
15| 3.000 240. 76 10.21 | 70.74 | 0.K. | # B
Kéc & - v
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il L BEPN A @i 9 % F9L9~< 0 ORET

EECEGES
&% K

o 1.285 1.273 1.341 1.371 1.448
ARTITHER AP ORET Y 24
RKreRRT D,
. L 286 |1.202 [1.208 |1.365 |1.436
RN 00 e 1 3 1.286 [1.292 |1.2 1.365 |1.43
FE2LUTIRT,
MElo¥m R = 12.24 (n) 1.338 [1.281 |1.262 [1.348 |1.395
Il X = 96.20 (m)
Y = 66.00 (m)
1.437 |1.326 |1.206 |1.306 |1.343
/NZEER Fs = 1.262 = 1.200 =
o
- A& N (el
- RIFEIHRE L T2, Zll 1632 |1.439 |1.319 [1.275 |1.334
R —
1,00 m
y
70 (X, Y)=(96. 20, 66. 00)
60
50
(m) X
80 90 100 110 120
. 518ES) " 519&H
JL JL
B (kN/m) B (kN/m)
1 0. 00 15 0. 00
3 0. 00
5 0. 00
7 2.30
9 29. 00
10 29. 00
11 29. 00
12 0. 00
13 0. 00
14 0. 00
Kéc £ - v
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(2) #h & BF
o 1.057 1.034 1.080 1.122 1.167
BERTITFHERTTORET N 24
BrERRT D,
s 1.040 |1.076 |1.054 [1.118 [1.135
Z DO TR/INDLEEROGM: & FHER
RELTITRT,
MIlo¥$E R = 13.73 (m) 1.114 [1.055 |1.025 [1.090 |1.104
Mol X = 95.60 (m)
Y = 67.40 (m)
1.153 |1.078 |1.079 [1.063 |1.088
/N HR Fs = 1.025 = 1.000 =
(e
. £ N o
- RIFER LT D, Zllrest {1139 [1oes |03 [1112
1.00 m
Y
(X, Y)=(95. 60, 67. 40)
701
\ ™
J
3 2y
60 1
3
50 1
(m) X
80 90 100 110 120
" SI5ES " 518
919 919
B v/ B2 )
1 0. 00 15 0. 00
3 0. 00
5 0. 00
7 0. 00
9 29. 00
10 29. 00
11 29. 00
12 0. 00
13 0. 00
14 0. 00
Kae & Zan 4
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SMRILE TE DR
n = B i EH D ]
SRIEATE | A | RO EEE | T Eh WA )
Y >H e LR Qi qz HE
(kN) (kN) (m) Fs (kN/m* )
1537. 47 185. 99 -1.767 4.96 256. 25 256. 25 0. K.
FOA A 0. 500 1.50 450
@ W WE [ E 7 U]
FRIEATEE | KEAE | fR/OHERE | W &) M I )
>V >H e e qs qz HIE
(kN) (kN) (m) Fs (kN/m? )
1525. 47 185. 99 -1.737 4.92 254. 25 254. 25 0. K.
R H 0. 500 1.50 450
(3) Hi & WF
SRIELTE | AR E | ROOERE | W B W
pAY >H e TR qu q HE
(kN) (kN) (m) Fs (kN/m?)
1518. 53 384. 58 -1. 141 2.37 253. 09 253. 09 0. K.
R OE 1. 000 1.20 600
Kéc = Zan 4
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ARG E OWET
n % FRF
o 1,285 1.273  1.341 1.371  1.448
ERTITHER PO 248
REeFnT D,
g . .29 208 |1.365 |1.436
= OPCEANDRARRDLNE L R 1286 J1.292 |1.298 |1.365 |1.43
RELUNITRT,
ML R = 12.24 () 1.338 |1.281 |1.262 |1.348 |1.395
Hilod.ts X = 96.20 (m)
Y = 66.00 (m)
1,437 |1.326 |1.296 |1.306 |1.343
B/NZ4&s Fs = 1.262 = 1.200 =
(e)
. ra N (e
- RIFEHRE LT D, Sl 1632 1439 1319 |1.275 |1.334
S Ee—
1.00 m
y
701 (X, Y) = (96. 20, 66. 00)
60
50
(m) X
80 90 100 110 120
" SRS " 5laE
919 919
B v/ BE )
1 0.00 15 0.00
3 0.00
5 0.00
7 2.30
9 29. 00
10 29. 00
11 29. 00
12 0. 00
13 0. 00
14 0. 00
Kéc £ - v
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(2) #h & BF
o 1.057 1.034 1.080 1.122 1.167
BERTITFHERTTORET N 24
BrERRT D,
s 1.040 |1.076 |1.054 [1.118 [1.135
Z DO TR/INDLEEROGM: & FHER
RELTITRT,
MIlo¥$E R = 13.73 (m) 1.114 [1.055 |1.025 [1.090 |1.104
Mol X = 95.60 (m)
Y = 67.40 (m)
1.153 |1.078 |1.079 [1.063 |1.088
/N HR Fs = 1.025 = 1.000 =
(e
. £ N o
- RIFER LT D, Zllrest {1139 [1oes |03 [1112
1.00 m
Y
(X, Y)=(95. 60, 67. 40)
701
\ ™
J
3 2y
60 1
3
50 1
(m) X
80 90 100 110 120
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1 0. 00 15 0. 00
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13 0. 00
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Kae & Zan 4
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